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Or perhaps a ‘horn’ has intent to damage  — P°177% 103115 39p X297 N

OVERVIEW

The X773 poses a query whether there is 1910 payment by 931. We can say that it is
similar to 177 (who is a 731, which pays 1912) for 937 is also 7°17X, or perhaps 177
is different from 237 since 17p is P>177% W02, MooIn has a difficulty with this query.

nvoIn asks:
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It is astounding! What is the doubt; obviously 97 is more severe than 70

because of this reason that it is 172 1nMd; how can we entertain the thought that 37 should
also pay 191!

mMooIN anticipates a rebuttal to his contention:
=INDINNN TN PRY 999 99N HPA 19P10T 919919Y NIIH1

For we cannot say that we derive that 237 pays 912 through a "' from J9p,

which is not a Wn®nn» 7Y™ and nevertheless pays 7913, so 931 which is a mbana Tm,

certainly pays 7912 -
- Ipmvanma [Howra91a] 79919 Y RY XNWHT

For now if we make this 1" we cannot refute it by saying 17y is P 17% 1> (but
not 737) as I explained in the 7w, Seemingly this answers Mo question® —

Moo responds, we can still refute this 1"p:
- %9991 91091 INYININ TNV NI DINYT

For a person will prove this, since he too is a w»nnn Tvwm (like x1), and
nevertheless he is exempt from 9912,

mooin offers an additional refutation to this proposed 1"p:
105390 HHVYH NN 19V JIPN 4791 ’¥a 5N 5199

! See "% 7"7 R, Moo [TIE footnote # 20], where nvoIn writes that a X711 which is not written in the 770 (such

as the X1 of pri7? M, which is merely a X120, but not a 175777) cannot be used to refute a 1"p. Therefore here too

we cannot refute the abovementioned 1"p, by saying »°1:7% 101112 7P, because that is not a 77902 721037 R

2 [Note: Granted that we cannot refute a 1"p through a X717 which is not 7702 72102, nonetheless this X is

effective that we cannot derive 731 from 17 without a 1"p. And this 1"p is refuted as NN continues to prove.]

> When the xm3 writes we derive 31 from 177, the X3 meant through a 1"p which we cannot refute (by saying that

17P is 2°172 Ina12). See “Thinking it over” # 1.

* This proves that the X1 of 1n>rnn 79m (which was the X1 that we wanted to use to derive that %37 should pay

1912) is not sufficient a X717 to make one liable for 7912.

> The 71 may (also) be referring to mooIn original question; how can the X3 have thought to derive 23 from 177
1
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And additionally how can we derive 231 from 9p to pay 1915 through the 1"p that
537 is more 1 than 77p, but this is not so, for 777 is more TR than 937, since 1P

is liable in the 2''719, and %31 is not, so there can be no 1"p. Moo does not answer his
6

question.
SUMMARY

We cannot derive 931 from 777 through a 1" since either m°31 07X or 1P is NN
2"702.

THINKING IT OVER

1. According to mooIn attempted answer that we derive 931 from 17p through a 1"
(which cannot be refuted by saying 1% 1na2), what are the two sides of the
query; specifically why should we not derive 937 from 777 through a 1"p?!

2. moon refutes the 1'? in two ways; first through a 21 from a third party O7X
who is a Wn?nnn 7Y and nevertheless 1919% Mwd, and secondly that 7P which is
7"772 N2 is more i than 930, Seemingly the second refutation (where we
undermine the entire basis of the 1"p, proving that 177 is the 2, rather than 237) is
a much stronger refutation (than proving from a third party that the X721 does not
necessarily obligate you to pay 71910). Why does not m501n reverse the order of his
answers, and write the second (and seemingly better) answer, first?!

since 17p is 1"712 n2»n (in addition to being P12 D). See ‘Thinking it over’. [However since the X3 does not
mention this, it more logical to assume that N0 is (also) offering an additional refutation to the 1"p. On the other
hand we can argue that the X3 only mentions the ideas that pertain to the act which brings the 7913 2117 (either the
X120 of 77X or the X120 of P77 WIMD); however the X of 1"712 n2»n is not directly germane to the 2vn of
9913, MdOIN is merely using it for ‘tipping the scale’, even if one will argue that 77X can perhaps diminish the
argument of P77 N2, 9" 7]

% See mwn nomi.
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